1. A circuit consists of a 12 V battery connected across a single resistor.  If the current in the circuit is 3 A, calculate the resistance of the resistor. 
2. A 100Ω, 300Ω and 1kΩ resistor are connected in series. 
a) Draw a circuit diagram and calculate the total resistance. 
b) The resistors are now placed in parallel. Calculate the total resistance. 

3. Two 5Ω resistors are connected in series with a 12 V battery.  Determine: (a) the potential difference across each resistor; and (b) the current flowing in the circuit. 
4. This question refers to the circuit below in which the current is 100 mA:
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(a) What is 100 mA in amps?

(b) What is the current in each resistor?

(c) What is the voltage across each resistor?

(d) What is the total resistance?

(e) What is the battery voltage? 

5. Consider the following circuit and then answer the questions below.
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a.      State the potential difference between X and Z.
b.      State the potential difference between X and Y.
c.       How much potential is left at Y?
6. Two resistors of size 10Ω and 5Ω are connected in parallel as shown below
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a.      If 3.6 A of current flows into the parallel branch, determine the current flowing in each of the resistors.  
b.      What is the potential difference across each of the resistors?  
c.       How much current will flow out of the parallel branch?  
7. Find the current in the 20Ω and 5Ω resistors in the following circuit.
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8. Find the readings on each meter. 
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9. In the circuit below, the reading on the ammeter is 3.2A.
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Determine:

a.      the reading on the voltmeter 
b.      the potential difference across the 40Ω resistor
c.       the current in the 40Ω resistor.
10.     
         [image: image7.png]030

05Q

= 20V






a.      Determine the total resistance.
b.      Find the reading on the ammeter.
c.       Draw a voltmeter in the correct place to measure the potential difference across the 0.3Ω resistor.
d.      Draw an ammeter in the correct place to measure the current in the 0.3Ω resistor.
e.      Determine the readings on the meters mentioned in parts (c) and (d) above.
11. 
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Calculate the current through R2 and R3. 

12. Find the readings on each meter.
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13. For the following circuit, calculate 
a) the total circuit resistance. 

b) voltage drop across the 60Ω resistor
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14. 
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